A) Spot the mistakes! 

If GDP continues to increase, the country will be in a recession.

It took an incredible amount of debt and money to obtain GDP growth over the past decade.

The government’s goal is to reduce the deficit to 5% of GDP this year through cuts spending and tax increases. 



B) Interrogatives - Ask the relevant questions. 

a. The team was looking at her slides on the economy of the Midlands. 
b. The CEO said he absolutely wanted us to deliver on this project.
c. We usually meet our Chinese partners every six months.																        d. Charlotte Parker is very dynamic and reliable. 
e. Our clients will have to wait for twenty minutes at Heathrow. 
f. The two entrepreneurs had known each other for years when they created their startup. 
g. There were two files on recent M&As. 
h. The company has just invested £3 million in R&D. 						
BONUS question tags - 
- Il semble que l’on ait atteint une étape importante pour le développement, non? 	              - On a atteint une étape importante pour le développement, non? 

